0] vzora

KomMmnnekT ycunmurtenen ang
cenCMoonacHbIX 30H
RS52 200.60.80/ 200.60.100

MHCprKLl,VIFI Mo YCTaHOBKE N MOHTaXy




Komnnekrauusa

2X

4X
4X

1X
1X

1X
1X

2X

4X

1X
1X

D 0

"D O

*
oOooooo0ooooooooooooooooooon




1X 0 ]
1X @
. o
@T_— 0
= v . / i 2X ‘ ‘
1 //
/= M8x20 S
——— ?}ff?{—;{:{*/}ﬁ!«::‘,‘,\ Mkp=8Hm 2X O
77 = =ar——
, Y J ‘\ /
QAP A=sin] (@ :
\iwars B A ;&i/ Y
\ S\ -3 i 22X E | @ M10x20
»‘ ) |
2 \
ARE R x 2 "
- ©
TX45 16X g M10

30X 7 M8
N
;\J ] 38X 8
\ : 6X 10
N : 40X 8
- 6X 10

|
N
N
ﬁ 74X M5x12

=®
40X [:| M8x20




YcuneHme MoHTaXHOW naHenu

699/899
500,700

6 omb D171

89
740

axx—011

M10x20
Mkp=12HMm




M8x20
Mkp=8Hm

M8x20
Mkp=8Hm




M8x20
Mkp=8Hm

M8x20
Mkp=8Hm

— = g
- (=T [T
- & - =
o -l -
5
lo
s
_ .=
il C)
M5x12
Mkp=5,5Hm

994

M10x20
Mkp=12Hm




